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Pupils are to calculate divisions that will result in a remainder. Encourage the children to use the most efficient method they can.

Below are some example questions pupils could be given.




[image: ] 27 children are travelling to a house 
party (all the restaurants are closed).
Each car can hold 4 children. 
How many cars will be required?


There are 46 toilet rolls left in the
supermarket. 
How many people will be able to
take 5 rolls?









A shirt requires 10 buttons.

How many shirts will a factory
be able to make with 93 
buttons?



There are 17 shows to watch on my Netflix list.  

If I watch 3 shows a day. How many days will it take to watch all the shows?












Mastery Activity
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Complete the division statements:
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Activities for exploring ideas at greater depth

Always, sometimes, never?
«  Ifyou divide a multiple of 5 by 2, there will be a remainder.

Ifyou divide a multiple of 10 by 5, there will not be a remainder.

o Ifyou divide a multiple of 2 by 5, there will be a remainder.
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Record this as a division while modelling, making it explicit where the numbers are coming from.

42 - 10 = 4 2

number of apples  divided by - number of apples  equals  number of full boxes apples that are

to be shared that fit in each box left over
(remainder)

Is there a more ef

I know that 4 x 10 = 40 so if | use the fact family, |
know that 40 = 10 = 4. There will be 4 full boxes.
42 is 2 more than 40 so 2 apples will be left over.

Link the use of multiplication facts to solve the problem to the familiar models used and identify where the
numbers are represented in each.
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ion with remainders - grouping

Present pupils with a problem.
For example:
A farmer packs his apples into boxes of 10 to sell. He has collected 42 apples.
How many boxes will he fil?

What do we know’

There are 42 apples in total to be divided
between the boxes. Each box can hold
10 apples.

42 has a 2 in the ones place. | know that

itis not a multiple of 10 because they all
have a 0 place holder. That means there
will be apples left over.

Model how to represent this problem using familiar
representations. For example:

OO0

Box 1
Box 2
Box 3
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